[FigO0] Data-&-Fit Quality || K0930 0.4.5 d14a500 w/base Bgsd6e || FWHM= 0.50 dex ; AR=1.0 pix || UGC12816
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[Fig01] t & R profiles || K0O930 0.4.5 d14a500 w/base Bgsd6e || FWHM= 0.50 dex ; AR=1.0 pix || UGC12816
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[Fig02] ... KO930 0.4.5 d14a500 w/base Bgsd6e || FWHM= 0.50 dex ; AR=1.0 pix || UGC12816

log Lis5ss [Lo/A pc’]

-1.50
-1.65
-1.80
—-1.95
-2.10
-2.25

-2.40
—2.55
=2.70

1.05

0.90

0.75

0.60

0.45

0.30

0.15

0.00

dered
log L5435
T T

[?@/AIPCQ ]

-1.8

—2.0

I —2.2
i 2.4
- —2.6
L . . . . . . -2.8

log M*" [M ,/pc* |

B | | | | | | 3.00
- 2.75
i 2.50
2.25

i 2.00
i 1.75
- 1.50
i 1.25
1.00

log M /Ligied (Mo /L A"

- ' ' ' ' ' ' 4.35
I 4.20
I 4.05
3.90

I 3.75
i 3.60
- 3.45
. 3.30
, , , , , , , 3.15

-1.0

0.5

4.6

3.4
3.2
3.0

0.06

0.04

0.02

0.00

—0.02

-0.04

—0.06

log (L{ered) (L, /A pe? |

| | | | | |
or ere -1
}Og <MCI /L§563g> [M(D/IL@A ] .

i i i i i i
Cumul Mass, Lobn & DeRed Lobn
I I I I I
________ OO.Mcor
= Lobn
. = Lobn-DR
i

I I I T
0.5 1.0 1.5 2.0 2.5
R [HLR = 4090 pc]



[FigO3] MoTs & SFRs 4 discussion || K0930 0.4.5 d14a500 w/base Bgsd6e || FWHM= 0.50 dex ; AR=1.0 pix || UGC12816
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[FigO04] b & c-Scalo ... || K0930 0.4.5 d14a500 w/base Bgsd6e || FWHM= 0.50 dex ; AR=1.0 pix || UGC12816
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[FigO5] Properties maps || K0930 0.4.5 d14a500 w/base Bgsd6e || FWHM= 0.50 dex ; AR=1.0 pix || UGC12816
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[Fig06] Z grad evol test || KO930 0.4.5 d14a500 w/base Bgsd6e || FWHM= 0.50 dex ; AR=1.0 pix || UGC12816
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